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Why did they say, etc. — 9912 1R R NIDn

OVERVIEW

After 7oy 21 rejected the initial version of XMW K 777 27, the XM3 mentions
the revised version, which also begins with "21 %KX 71 °197n. Our NBON
distinguishes between this 77 *191 (of the revised edition) and the 7in %191 of the
original statement.

1WA THND XYM XIN MWUPAY X3 89 205 192093 'xmna
This 7 °191 is read passively, for X1 did not come to ask, why does a 77102
marry on Wednesday, but rather X is asking that she should be allowed to
marry (also) on Sunday

SUMMARY
In the revised statement of 2X1Ww there is no question why '7 1% nXw1 72103, just
why not '& 0172 (as well).

THINKING IT OVER

Can we say that X1 meant to ask with his 1nX n"sn,> how can we assume that
'7 01Y NRW1 77103, (solely) because of 0°71n2 navv, for if that were the case, she
should marry nawa 'xa (also)?!?

"It is difficult to say that (also) in this revised statement X12w is asking 21 D31 722 1K »"5n and answers DXW
51 2°91n2 naww 12 77, for this is an explicit 7Iwn; what is 2w teaching us?!

% The n "9 is a lead into the real question. It should be understood as follows; [what is] the reason 212 nXw31 7712
"7, [it] is because of 2°71n2 nww; therefore the question is that she should marry on 'k 1 (also).

? That it is not kN2,

* See p"nvw and ovax ond.
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